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(1) Read the passage below and answer in English. -

H(FEOMRTRAFTEEEA.
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(%F9 1) Which one of the following is equal to (1)?
A. native English speakers in Zaire
B. pygmy chirﬁpanzees
C. common clﬁmpanzees
D

. researchers working with Dr Jane Goodall
(%R 2] Why do humans not really understand (2)?
(%R 3) Why does the author say like (3)?
(%4 4) What does the author want to say with (4)?
(%9 5) Give an example from the passage, regarding (5).
(%R9 6] Give an example from the passage, regarding (6).

(%[ 7) Write “T” if the statement is true and “F” if it is false.
1. Kanzi learned to use symbols by watching others.
2. Kanzi understands more than 200 English words written on a
board.

3. Young bonobos can understand spoken words better than adult

bonobaos.
4. Kanzi and his mother can’t communicate in English.

5. Kanzi understands and produces sentences at the same time.

— 4 — OMB(212—68)



[ I ] Read the passage below and answer in English.
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Z(FEDRRTARTEEEA.

(F%F3 1) According to paragrlaph 1, who are most likely to have health
problems?
A. males in the six nations of the WHO study
B. respondents of the SAGE study
C. people living in China
D

. women in India

(%R 2) According to the author, what traditions affect healthcare choices in

later life in many Asian countries?

(%M 3] Regarding (1), what are the causes behind it? Choose four causes

from the passage.
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(7% 4] According to paragraph 4, what conclusion does the author come to

about elderly people?

(%f 5) What can make it difficult to provide migrants who suffer from

dementia with adequate care in nursing-home settings?

(E%F9 6) Which one of the following is the appropriate word for (2)?

A. better
B. closer
C. larger
D. higher

— 9 — OM8(212—73)



